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CInINEES By Sv/h
TAEET| Hki#E | Sk# |BELFY| 768 HEA A i5
BE&#EISLOET INES 118248 0.19 3%0.18 0.18 0.21 0.20 0.20 0.15 —
BEHEISLOE2 INES 118248 0.18 3%0.20 0.18 0.23 0.18 — 0.19 —
BE&#EISLOES INES 118248 0.19 3%0.17 0.18 0.18 0.16 0.18 0.17 —
BEAESLOEMR (AR 118248 0.19 3%0.22 0.19 0.23 0.18 0.20 0.14 —
AR (BR-mElR) |RiR 118248 0.15 %0.16 — 0.18 0.17 0.19 0.17 —
B E EE F i BERsE 118248 0.18 0.41 0.18 0.16 0.16 0.13 0.17 —
BENyrENE BENsE 118248 0.19 %0.17 0.18 0.16 0.16 — 0.16 —
BEIERAR BENsE 118248 0.16 3%0.12 0.19 0.18 0.18 — 0.17 -
[N [ELNE 118288 0.12 3%0.14 0.13 0.12 0.12 0.12 0.13 0.13
[E/NE| BERKR 118288 0.12 3%0.15 — 0.16 0.16 — 0.14 0.08
IFf=#iih AR T 118288 0.17 - 0.12 0.18 — — 0.19 —
BEERAIE—LNE F &t 118288 0.16 %0.12 - 0.10 - - 0.18 0.15
BERIE_LH F &t 118288 0.15 %0.14 - 0.16 0.15 - 0.17 0.13
BARKM AR 118288 0.12 %0.15 0.16 0.14 — - - -
LAGAR AR BERR 118288 0.16 3%0.20 — 0.14 — — 0.15 0.15
PELETLE AR 118288 0.15 3%0.18 - 0.16 - — 0.15 —
AR AR AR 118288 0.16 3%0.20 — 0.16 — — 0.17 -
WhEEAE HEE 118288 0.15 3%0.21 - 0.15 - - 0.20 0.18
L\ /NS R H7E 118288 0.17 3%0.14 — 0.15 0.13 - 0.23 0.12
AELE R H7E 118288 0.13 3%0.12 — 0.13 0.13 — 0.15 0.14
LEAE (1S 118288 0.14 %0.15 - 0.13 0.13 - 0.14 0.13
mErEsE FHmE 118288 0.12 3%0.12 0.10 0.10 0.12 — 0.12 0.12
KN & HFHE 118288 0.15 3%0.16 0.17 0.18 0.15 0.15 0.17 —
TAR2EAE TR 118288 0.13 $%0.15 - 0.15 0.15 - 0.13 0.13
BWIANABERALSEE) [T 118288 0.15 3%0.19 - 0.20 - 0.14 - -
VD &HT-ARE TR 118288 0.15 %0.15 0.16 0.12 0.15 — 0.14 0.12
BMOAE [F3EES 118288 0.16 3%0.11 — 0.14 0.17 — 0.14 0.14
ZEAE & OET 118288 0.18 3%0.44 — — — — 0.32 0.14
RTEAER ATEET 118288 0.14 %0.19 0.13 0.17 0.25 - 0.19 0.20
FHT N E FHT 118288 0.12 — — — 0.59 - 0.16 0.18
ESeY=Aw:N): VNE BT 118288 0.15 - 0.19 0.28 — — 0.21 —
HOHAE #XET 118288 0.14 0.14 — — 0.16 — 0.14 0.16
RETANE #XET 118288 0.17 — — — — — 0.19 0.17
3yHLLE B 118288 0.13 3%0.15 0.15 0.14 - - 0.15 -
N =AY N =g 118288 0.19 - - 0.18 - - 0.18 0.15
FRsrEnE NS ET 118288 0.17 - - 0.16 0.25 - 0.33 0.12
HONE NS ET 118288 0.18 %0.17 - 0.19 0.26 - 0.16 0.15
N =P /N JIET 118288 017 - 0.21 0.16 0.32 - 0.17 -
HWNE HH 118298 0.13 %0.12 0.10 0.17 0.11 - 0.12 0.13
MHEAR HH 118298 0.16 %0.15 0.15 0.14 0.15 - 0.13 0.13
INTBRAR R ET 118298 0.13 3%0.13 - 0.13 0.12 - - 0.14
EErEAR BEvE 118298 0.14 %0.12 0.13 0.11 0.12 - 0.10 0.12
HIEHNE r—&A 118298 0.12 %0.13 0.14 0.14 0.15 - 0.11 0.14
TR RAE STHERT 118298 0.13 %0.16 0.14 0.12 0.11 - 0.14 0.15
FEAEAR STHERT 118298 0.13 %0.12 - 0.11 0.11 - - 0.13
WBRAE NZL 118298 0.18 %0.14 0.15 0.17 0.13 - 0.11 0.12
RRPRARE AR AT 118298 0.09 %0.12 0.12 0.12 0.11 0.13 - 0.11
[SJTIE /N ES =]11] 118298 0.15 %0.15 0.13 0.14 — — — —




BlLmEAR =] 118298 0.15 %0.15 0.15 0.15 0.17 - 0.13 -
f/82E TR 118298 0.12 3%0.11 - 0.15 0.13 — 0.13 0.13
RENE tHEE 118298 0.15 3%0.13 0.11 0.19 0.14 — 0.15 0.13
HOLE SR 118298 0.11 3%0.13 - 0.14 0.11 - 0.12 -
=VINE =B 118298 0.14 3%0.10 — 0.17 0.15 - 0.15 -
ESNE| =B 118298 0.15 0.17 — 0.19 — — 0.17 -
NEAE =15 118298 0.14 3%0.14 — 0.16 — — 0.13 -
HERAE =15 118298 0.16 3%0.14 0.14 0.14 0.14 — - 0.14
LN =15 118298 0.14 3%0.14 — 0.16 — — 0.17 -
AT E ZRHET 118298 0.14 %012 — 0.14 - — — —
LENES =15 118298 0.13 0.15 — 0.18 0.15 — 0.14 -
ZIBRNE =15 118298 0.15 3%0.16 — 0.16 0.15 — 0.16 -
EDHAR EDH 118298 0.15 3%0.15 - 0.15 - - 0.12 -
EQHREthAE ENH 118298 0.15 - - 0.16 0.15 - - 0.13
EHDRAR /| 118298 0.16 3%0.13 0.14 0.09 0.11 - 0.10 0.12
[N aE 118296 0.13 %0.15 - 0.10 0.12 — - -
VEDLYLE Hhvhar 118298 0.14 %012 — 0.14 0.11 — - 0.11
LETRAR LHET 118298 0.12 30.09 — 0.12 0.12 — 0.11 0.11
EHRERAR %H 118298 0.13 3%0.11 - 0.14 0.13 - 0.09 -
KEARAE ENOES:) 118298 0.11 3%0.13 — 0.13 0.13 — 0.16 0.11
WELE WEERT 118298 0.11 0.28 0.21 0.15 0.14 — 0.13 0.13
ZOARBHFROAE WEERT 118298 0.14 3%0.14 0.14 0.14 — — 0.16 —
ERAT N E EFEET 118298 0.12 %012 — 0.13 — — 0.13 0.13
e HLE S2MT 118298 0.12 3%0.15 — 0.13 — — 0.14 0.14
F_nE + R8T 118298 0.15 3%0.13 0.13 0.14 0.11 0.15 0.13 0.12
A3ZLBIEIGAE + R8T 118298 0.16 3%0.12 — 0.15 — — 0.14 -
WEAETSHONEIGAE |FREAET 118298 0.14 %0.13 - 0.24 - - 0.15 -
sl FNE| + HET 118298 0.16 $%0.15 - 0.16 - — 0.15 —
+ HETRGIGAE + HET 118298 0.15 - 0.14 0.16 — — 0.16 —
+HETB LG AE + R8T 118298 0.15 3%0.13 - 0.14 — — 0.15 —
TN NES RILHET 118298 0.14 3%0.10 — 0.12 0.22 — 0.14 0.13
HTFELE HYEE 118298 0.13 %0.12 0.13 - 0.16 - 0.12 0.15
KLE HYEE 118298 0.12 30.20 0.13 - — — 0.11 0.14
INETERET A /NErERET 118298 0.14 3%0.15 0.14 0.17 0.13 — 0.14 0.13
=P YN R ET 118298 0.13 %0.15 0.13 0.14 0.15 — 0.14 0.11
EHILELE LHT 11H308 0.14 — — 0.11 0.13 — 0.11 0.10
E =1 /NES E=L) 118308 0.12 — — 0.12 0.13 — 0.11 0.13
LHETNE LHT 11H308 0.12 — — 0.10 0.14 — 0.10 0.13
AGRHEEELE ARH 118308 0.14 - - 0.09 0.09 - 0.09 0.08
Hhviay ENE Hhvkar 11H308 0.16 3%0.16 0.11 0.15 0.13 — 0.13 0.12
Hrhr it AE Hhvkar 11H308 0.14 — 0.11 0.13 0.14 — 0.12 0.12
ARBLAE ARH 11H308 0.12 — — 0.12 0.15 — 0.12 0.12
N Sk AT 118308 0.13 - - - 0.15 - 0.13 -
p AN Sk AT 11H308 0.16 3%0.12 — 0.13 0.14 — 0.15 —
FEAE A E Sk AT 118308 0.16 - - 0.18 0.16 - 0.15 -
=N E3=k) 11H308 0.13 $0.05 — 0.11 0.09 — 0.13 0.12
BIEAE & HHET 11H308 0.12 3%0.11 0.15 0.15 0.10 - - 0.13
Hy L NE 35k 7 BT 11H308 0.13 - - 0.12 0.12 0.13 0.12 0.11
[ ENES 35k 7 BT 11H308 0.12 3%0.11 — 0.09 0.13 — — 0.12
HIVLE 35k 7 T 118308 0.10 3%0.15 - 0.14 0.11 0.11 0.14 0.09
LbEYE b)) 118308 0.12 - 0.08 0.14 0.13 0.12 0.10 0.09
iz NE| iz 118308 0.13 %0.12 - 0.12 0.14 - 0.10 0.10
BRIFLEMELAE BRIFET 118308 0.12 - - 0.09 0.12 - — —
RN BRIFET 118308 0.14 - - 0.12 0.12 - 0.14 0.12
HOIELLNE kAt BT 118308 0.12 - - 0.15 0.15 - — 0.11
g N Eld:) 118308 0.14 - 0.13 0.14 0.13 - 0.14 0.12
HHETHLNE Eld:) 118308 0.13 - - 0.13 0.13 - 0.12 -
EAR Eld:) 118308 0.16 %0.14 - 0.13 - - 0.13 -
XM AE Ed:) 118308 0.16 - - 0.17 0.17 - 0.17 0.12
REBAE Ed:) 118308 0.14 0.12 0.14 0.13 0.15 - 0.15 0.13
EINaE Jeilfz 118308 0.13 - 0.14 - - - 0.13 0.13
b /NS pld:) 118308 0.15 %0.15 - - - - 0.14 0.14
[=AE =HT 118308 0.14 - 0.12 0.17 - 0.12 0.12 0.12
EhELAE =HT 118308 0.12 - 0.29 0.13 - - 0.12 0.15




ELENE| = HT 118308 0.17 - 0.17 — 0.17 - — —
BREE AR SRET 118308 0.13 - 0.11 0.15 - - 0.14 -
DEPFELE T AT 12818 0.13 0.1 - 0.09 - 0.12 0.11 0.10
(ki NE T AT 12818 0.14 3%0.10 0.15 0.13 0.13 — 0.10 0.12
RPN [ =] 12A18 0.13 %0.12 0.14 0.13 - - 0.11 0.13
i) s PN ] =] 12A18 0.14 %0.11 0.14 0.12 - - 0.12 0.13
ik B 7N ES T AT 12818 0.14 3%0.14 — 0.13 0.17 — 0.16 0.12
FBEMNTAE ] =] 12A18 0.14 3%0.15 - 0.12 0.18 - 0.16 0.13
FHPRAR [ic] 2] 12818 0.15 3%0.14 0.12 0.14 0.10 — 0.17 0.10
(e NS (15 12A18 0.12 30.10 - 0.11 0.10 - 0.12 -
E3ARZR/NE (&5 12818 0.13 %012 — 0.14 0.13 - 0.14 -
[EB= B b N IR 12818 0.13 3%0.15 0.13 0.13 — — 0.13 0.10
N UNE] [l-F[4 12A18 0.13 3%0.14 0.14 0.17 - - 0.16 -
AIRANE -5 12818 0.15 3%0.14 0.13 0.14 — - 0.14 -
B E (IBFEET) [l-F[4 12A18 0.15 3%0.14 0.14 0.15 - - 0.13 -
i NI PNE [I=1E3] 12818 0.12 3%0.11 0.14 0.17 — - 0.14 -
IRRAR I 12818 0.15 30.08 0.11 0.13 0.10 — 0.13 0.16
TR ANE IR 12A18 0.13 3%0.11 - 0.09 - - 0.13 0.10
FIIRAR JIFE 12818 0.14 3%0.14 0.15 0.14 0.14 — 0.15 0.12
EKET A E IFg 12A18 0.13 3%0.13 — 0.11 — — 0.11 0.11
IEPRARE I 12818 0.11 3%0.14 0.12 0.10 0.23 — 0.14 0.10
PR BERyE 12R18 0.15 %0.13 - 0.14 - - 0.16 -
i E| BERyE 12818 0.13 3%0.13 - 0.16 0.12 — 0.16 —
RETREBF A E RAET 12828 0.16 3%0.14 — 0.15 0.16 0.11 0.15 0.09
sk PN E| RHET 12A28 0.11 3%0.13 — 0.09 0.39 0.09 0.10 0.10
LiARAR RHET 12A28 0.14 3%0.14 — 0.13 0.11 — 0.13 0.09
NEAE Fi% 12828 0.13 3%0.11 - 0.11 0.16 0.11 0.12 0.10
HERAE BERyE 12828 0.15 3%0.16 0.20 0.15 0.16 0.15 0.18 —
THRAR BERyE 12828 0.15 3%0.14 — 0.13 0.15 — 0.13 —
THEAAR BERyE 12828 0.13 3%0.13 - 0.15 0.10 — 0.17 -
BEORAR TRHET 12828 0.18 0.34 - 0.14 0.26 - 0.15 0.12
[[REW®E) BfI:u Sv/h
S ”n < BFNICEVMEEZ RT LB LN IEFOKRSHRE
» B A e | M E B |SREAE

MAEET| HKE | Sk |ZELZFY| {618 HEA A 15
BILHRERR BELE 118248 0.13 - - - - - 0.13 -
BRI MRE R B4 118248 0.12 - - - - - 0.13 -
WA FE vt 5 BELE 118248 0.11 - - - - - 0.09 -
REFERE R B B 75 118248 0.13 - - - - - - 0.13
EHEFE YU BERR 118248 0.12 - - - - - 0.11 -
BELEAME 1 RERER BT FE 118248 0.12 — — — — — 0.12 0.12
BT FEEhEE2 R E 5 | E 38 118248 0.15 — — - - - 0.08 -
pORPREABERE [BIRE 118248 0.15 - - - - — — 0.12
REEFEVIBEUES BIERR 118248 0.11 - - - - — — —
ROR S H IR E i E BERR 118248 0.13 - - - - - 0.13 0.13
3 550 ) HH R e BEFH 118248 0.14 — — — — — 0.14 0.18
WENIFE Yy UG BEFH 118248 0.13 - - - - - 0.11 0.15
BURETRRE R BERKR 118248 0.12 — — — — — — 0.14
B K £ IR = kR BIRE 118248 0.13 - - — - — — —
AR b R 2 R BERR 118248 0.14 - - - - - 0.12 —
HHAERERR HHE 118248 0.14 - - - - - - -
EBINSVFEVIRVE |BELE 118248 0.15 - - — - — — —
BEILHFE2RERE |BREIL 118248 0.12 - - - - - 0.17 -
&R R E R HIRE 118248 0.14 - - - - - - -
J\IR R E R Pz 118258 0.10 - - - - - 0.11 0.12
L TRE R HE 118258 0.16 - - - - - 0.12 -
YRR E R Pz 118258 0.10 — — - - - 0.08 -
T IR E EE HE 118258 0.14 - - - - - 0.10 0.14
PA= L E R E iR Pz 118258 0.15 - - - - - 0.13 —
R R = EE Pz= 118258 0.12 - - - - - 0.13 —
FAGR IR 2 s FAGR 118258 0.09 — 0.09 - - - 0.10 —
L RE R FAGR 118258 0.13 - - — - — — —
HIERE#E FAGR 118258 0.09 — — — — — 0.08 -




EHARRE R A 118258 0.10 - - 0.07 0.10
1L E REWE AR 118258 0.16 - - — —
EFREHER AR 118258 0.13 - - 0.15 0.11
FiRRE R AR 118258 0.16 - - 0.10 0.15
TERE R AR 118258 0.09 - - — —
MISFE vl U5 FAR 118258 0.13 - - 0.15 0.12
KR RE#E F AR 11H258 0.13 0.10 — — 0.16
MARLEERERR By e 118258 0.11 - - 0.08 0.08
BRFEvI#UE FAR 118258 0.09 - - - —
&R E R F AR 11H258 0.11 — 0.14 0.14 -
B IR E R oy B 11H258 0.16 - — — -
FMARRHLSWNREEE [FTARIR 11H258 0.16 — 0.16 0.17 -
ZHAREER v s} 11H288 0.12 — — 0.11 0.11
EREREEE ERE 118288 0.13 — — 0.13 0.11
[R5 R 2 A= 11H288 0.13 — — 0.10 -
HiRRE R EiR 118288 0.14 - - 0.11 -
JIR R & 5HEE A= 11H288 0.14 — — 0.11 0.16
SEFE VDU A= 118288 0.12 - - 0.14 -
ARERE R A= 11H288 0.12 — — 0.11 -
T IR iE A= 118288 0.15 - - — 0.16
7 R B R A Hh Al 118288 0.13 - - 0.16 —
AR REEE FILEERS) 118288 0.12 - - 0.11 -
FYZHRE MR GRS 118288 0.12 — — 0.12 -
HERERE A= 118288 0.18 - - 0.16 —
ZHREFEYIWHVIG by =z 11A28H 0.12 - - 0.12 -
WIL—TEFEYI#UE [#ALL 118288 0.09 — - - -
RERF IR B HEE JNBHET 118298 0.11 — — 0.12 -
/B IR E R fRET 118298 0.14 - - 0.09 —
FHHET IR E R fRET 118298 0.11 — — 0.12 -
TERETETEREMRE | TFRAET 118298 0.10 - — —

JLETPUT B IR E EE Eld:) 118298 0.10 — - — —
Jbilfe—T BFE v Usg | LIz 118298 0.13 — — — —
WE7/A—FAFE v US (/NG )BT 118298 0.16 - - 0.13 —
INANIFE YIS =D 118298 0.15 0.13 - - -
CTULFE VOB LEG NS I ET 118298 0.13 - - 0.13 0.13
R EHEIREER KE B BT 118298 0.14 — — 0.14 —
=R R E R = R ET 118298 0.10 - - 0.10 -
BOIDIRE R BDIBET 118298 0.14 — — 0.12 —
A+hREEE &1 118298 0.13 - - 0.10 —
JEH IR E R Pl 118298 0.13 - - 0.13 —
NS R E £5)1 8T 118298 0.13 - 0.13 -
E+HE1RERE A+ 118298 0.10 - - 0.10 -
A+HE2RERE A+ 118298 0.12 - 0.10 0.12
A+EHE3RE R A+ 118298 0.11 - - 0.09 -
WA E2RE EE A BT 118298 0.14 - — — —
REBEE1RERR KEH 118298 0.15 - - 0.11 0.13
REBEE2RE R KEH 118298 0.13 — - 0.10 0.11
A+HE4RERE A+ 118298 0.13 - - 0.09 -
A+EHE5RE R A+ 118298 0.13 - - 0.09 0.12
= R i 1R = i E = R AT 118298 0.13 - - 0.15 0.14
MEHERE R MEHET 118298 0.15 - - 0.13 —
TEVE IR E iR TEHE 118298 0.16 - - 0.10 0.13
AHFE—TEFEYIEVE | KE R 118298 0.12 - - - 0.13
EraRERER Ead 118308 0.17 - - 0.13 0.10
EN&FEvIlEUE Fn& 1 118308 0.12 - - - 0.13
A+HHFEYIBEVIE i 118308 0.14 - - 0.11 0.12
WRE1 REER ILIZRET 118308 0.18 - - 0.16 —
IWRFE2 REHER ILIZRET 118308 0.15 - - 0.11 —
WF R E R A Hr 118308 0.15 - - - 0.13
)11 EE IR E R £5)11ET 118308 0.12 - - 0.13 0.16
WA BT RE #E | WA BT 118308 0.13 - - 0.10 0.15
BEHLEYRE R = R AT 118308 0.16 0.17 - 0.16 -
BEANZEGRELEE |SRET 118308 0.17 - 0.19 0.19 -
BAFE v UG MEET 118308 0.15 - — — —




A+&—TEFEVIEVE [+ 118308 0.13 — — - —
BEERE R R+ 118308 0.12 - — — —
A+ #hsE6 RE MR A+ 118308 0.14 — — 0.12 -
FRRERR Fis 118308 0.14 — — 0.10 0.10
EERE R EEHET 12818 0.12 — — 0.15 -
RETE2RE EE AT 12818 0.12 — — 0.11 -
KA A R IR 2 i E AT 12818 0.12 — — — 0.11
RETFE YIS AT 12818 0.15 — — — 0.12
EETFEVIHUE EEHET 12A18 0.10 — — — —
RETRRFEYOEVE |KAT 12A18 0.13 - - - 0.12
Fm_TBREEE Fi% 11H30H 0.15 — — — 0.13
RETZTBE# RE R | RET 12818 0.14 — — 0.12 -
T EIREEE Fi% 11H30H 0.14 — — 0.11 -
ﬂé'ﬁlgﬁl eI} 12818 0.13 - — — —
RUEEF1RERR |[FEH 12818 0.13 — — 0.13 —
IJ-HI"'""" L%E;E FEH 12818 0.12 — — 0.14 -
RUEFEEEIRERHE (&AWL 12818 0.11 — - - -
,m'ﬁi & eI} 12818 0.11 — — 0.10 -
THE1REER Tl 12818 0.09 - — 0.06 —
/\l limﬁliﬁ eI} 12818 0.09 — — - -
RUEFEF4RERE (&AWL 12818 0.14 — — — 0.15
%ﬂhg;&l fRE 12R18 0.14 — — — —
BHRFEVIEVIE eI} 12R18 0.18 - - - -
AUAHRERR eI} 12R18 0.14 - - — —
AT L4V RERER [FWL 12818 0.17 0.13 — — -
gk IR B e E fip 12828 0.09 - - 0.08 —
EFEREEE EFH 12828 0.06 - - 0.06 0.07
& 35 37 H IR & 55 & 35 % 12828 0.10 - - 0.08 -
FEHREEE EFH 12828 0.09 - - 0.07 0.13
[&15 R & E &5 12828 0.13 - - 0.12 0.10
AR E EE SES 12828 0.10 - — 0.10 —
i 355 3 A o o LR 2 3E & 35 % 12A28 0.12 - - 0.12 -
M5 1R E i E W 12828 0.13 - - — —
+TEFHREEE EFH 12828 0.12 — — 0.10 —
HEPHRERR HEFH 12828 0.15 - - — —
A2 REEE TERW 12828 0.15 - — - -
U1 R & HEE g 12828 0.15 — — - -
D-DARRE EE =] 12828 0.10 - — - -
LU IR E EE g 12828 0.18 - 0.15 — -
AEEFEF2REHE |KFHF 12828 0.17 - — — —
TRAEREEE TERW 12828 0.16 - 0.15 — -
rRRREEE TERW 12828 0.16 - — - -
o B IR & iE h g8 12828 0.14 — 0.15 — -
TO-OKRE R LRI 12828 0.16 - — - -
=R IR E R =ik 12828 0.09 - 0.13 - -
R AEFEYIBEVES TERW 12828 0.16 - - — —
FHFE NS TERW 12828 0.16 - 0.16 - -
JNABRFE YW UIE KiHx 12828 0.14 — — — —
REMRZRREEE KiHx 12828 0.14 — — — —
PR ET R & 5hE R AR ET 12828 0.10 - - 0.09 0.10
iR E R AR ET 12828 0.09 - 0.10 - 0.10
AR IR E EE AR ET 12H28 0.09 — — — 0.08
thih g IR B i W 12H28 017 — - — —
BERRERER W 12H28 0.12 - 0.16 — —
g EFE O UE W 12H28 0.15 - — — -




[RAR—VHEE%] Bfii:u Sv/h

R4 B4 A% E IERILS T BFMICBWMREEZ T T ERONLEFMOBSHRE
(KF4) - DRGHEE
TAEET| Hki#E | Sk# |BELFY| 768 HEA A W5
FaEMEE) L 15 B 11A30H 0.15 0.13 0.18 0.19 - - — —
HETEE) 115 ST 11A30H 0.11 0.12 0.20 0.14 - - 0.12 -
BT BEEK 5 ST 11A30H 0.11 - 0.17 0.14 0.12 - — —
FaERREEK S B 11A30H 0.11 - - 0.14 - - — -
[HER%RESST] By Sv/h
- S RRIET BAMICEWMEEEZRT EELNDBEFROKREHRE
LS oy | mER RS
TAEET| Hki#E | Sk# |BELFY| 7E8E HEA A W5
WIEXLYST TR 118248 0.15 0.19 — 0.15 — — 0.14 -
REERYI7 05 -V |EE 118248 0.11 0.13 - 0.13 0.15 0.11 - —
REERITT 405 —va-L 1725792 | EE R 118248 0.13 0.22 - - - 0.10 0.15 —
CARWNESYST A= 118248 0.13 3%0.26 - - — 0.13 - -
OHEIHREIST FAR 118248 0.12 0.17 0.14 - - - 0.12 -
[ZDhfEEk]) By Sv/h
s B4 A% ERIEIST BAMICEBWMEEEZRT LR LNDBEFROBREHRE
(KF4) - DREGHRE

MAEET| HKE | k¥ |ZEELZFY| fEE HEA A i5
ANRBERAERERTE | THIR 11H308 0.05 — — — — — — —
ANBRERELFERERTS | 2R 118308 0.11 - - - - - - -




